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QUESTION 1

A customer has a partitioned system running IBM i and Domino. The customer is considering a new system to replace
the existing system and wants to add a Web Sphere application and an AIX application.

Which of the following will assist in sizing the new system?
A. Performance Management (PM) for Power Systems

B. Workload Estimator (WLE)

C. Snap Shot

D. System Planning Tool (SPT)

Correct Answer: A

QUESTION 2

Which of the following features are unique to PowerKVM ?
A.VvTPM

B. SR-IOV

C. Support Ubuntu

D. Factory Integration Linux

Correct Answer: C

QUESTION 3

The shared storage pool (SSP) was established in Cluster Aware AIX (CAA) Which of the following can provide the kind
of high-value features ?

A. client logical partition memory thin provisioning (Thin provisioning).

B. Zero configuration operations to implement NPIV storage.

C. throughout the cluster VIO server synchronization hard name.

D. Logical partitions automatic failover between Power Systems servers.

Correct Answer: A

QUESTION 4

A customer is ordering a 4-core S814 with the following partitions. The default processor pool will be used.
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An IBM i partition capped at 1.0 processors.

A second IBM i partition capped at 0.5 processors.

An AlX partition capped at 0.5 processors.

A Linux partition capped at 0 5 processors.

How many IBM i processor licenses are required to support this configuration?
A.3.0

B. 2.0

C. 10

D. 4.0

Correct Answer: B

QUESTION 5

A customer wants to have an AlX Power HA cluster span two sites separated by 100 kilometers. Which option will span
the two sites?

A. Power HA System Mirror Standard Edition
B. Power HA System Mirror Enterprise Edition
C. Power HA Smart Assists

D. Power HA Cluster Aware AlX

Correct Answer: B
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